
Pea Soup MVS HAZER PARTS LIST 27/11/2014

Tel 01642 769952   www.smokemachines.net

Please contact us directly for pricing.

PRODUCT ID Description Price

050118 STARHAZER PUMP BRACKET

050191 MVS CON.SIDE PANEL

050192 MVS FAN SIDE PANEL

050193 MVS GEAR TRAY

050194 MVS MAIN CHASSIS

050195 MVS COVER PANEL

050196 MVS CONTROL PANEL

050198 MVS BASE PLATE

050231 SUPPORT PLATE

050232 STEEL PILLAR - M5

051051 MVS PLASTIC SCROLL

052008 1/4 P.C.B. SPADE TERMINAL

052021 EURO CHASSIS PLUG

052029 MOLEX 4-WAY PLUG

052029A CRIMPS FOR MOLEX PLUGS

052030 4 WAY  PCB POWER SOCKET

052033 4 PIN SHROUDED HEADER

052034 6 PIN SHROUDED HEADER

052037 3 PIN IDC HEADER SOCKET

052039 6 PIN IDC HEADER SOCKET

052074 5PIN MALE XLR

052075 5PIN FEMALE XLR

052076 32 PIN I/C SOCKET

053111 MAINS O/O SWITCH

053136 MVS 5A RELAY

053137 TACTILE SWITCH

053138 SWITCH BUTTON

053304 20M/M FUSEHOLDER

053314 250M/A FUSE

053318 20 M/M PANEL FUSEHOLDER

053329 3.15AMP CERAMIC ANTISURGE FUSE

053419 MVS 15VA TRANSFORMER

053420 MVS 250VA TRANSFORMER

053423 MVS 110V 15VA TRANSFORMER

053424 MVS 110V 250VA TRANSFORMER

053506 MVS MOTOR, CLOCKWISE(Top)

053507 MVS MOTOR, ANTI-CLOCKWISE(Bottom)

053508 MVS C/W MOTOR - 110V

053509 MVS C/C/W MOTOR - 110V

054007 3/16  NYLON TUBING

054128 3x7m/m SILICON TUBING

054130 HAZER FLUID PUMP



054133 TEE

054150 MVS AIR PUMP

054167 MVS 110V AIR PUMP

055004 MINI OPTI HANDLE

055010 4.8MM OPEN GROMMET

055014 RUBBER GROMMET 3/16"

055031 PLASTIC COVER SPACER

055049 TUBULAR PCB SPACERS (WHITE)

055050 STARHAZER IMPELLER

055060 MVS ANTI-CLOCK IMPELLER

055076 S/ADHESIVE CABLE BASES 9MM

055087 P  CLIP FOR AIR PUMP PIPE

055100 NYLON SPACER 8MM 4MM DEEP

055112 TO3 ISOLATING WASHER

055114 60CC NYLON BOTTLE

055115 RUBBER BUNG TWO HOLE TYPE

055116 1/4 TERRY CLIP

055117 BLACK NYTIES LONG

055118 BLACK NYTIE SADDLE SCREW FIX

055120 NEOPRENE SPONGE RUBBER

055125 IN LINE FILTER

055127 MOUNTING PILLARS

055131 FLUID PIPE ENTRY CLAMPS

055141 BOTTLE TOP GROMMET

055147 MVS HANDLE

055218 19°C/W HEAT SINK

055226 MVS AIR PUMP SPRING

055227 HEATSINK

055236 MVS AIR PUMP SPRING

056001 "WARNING, HOT PARTS"  LABEL

056084 MVS LABELS

056085 MVS REMOTE LABEL

056086 MVS POWER LABEL

056104 MVS 110V POWER LABEL

058022 243K PRECISION RESISTOR

058023 1K PRECISION RESISTOR

058101 100R .25W RESISTOR 1% M/F

058101.1 100R RESISTOR

058102 1K  RESISTOR

058103 10K RESISTOR

058104 100K .25W RESISTOR 1% M/F

058123 12K .25W RESISTOR 1% M/F

058154 150K .25W RESISTOR 1% M/F

058221 220R .25W RESISTOR 1% M/F

058221.6 220R 0.6W

058222 2K2 .25W RESISTOR 1% M/F

058224 220K .25W RESISTOR 1% M/F



058271 270R RESISTOR

058333 33K .25W RESISTOR 1% M/F

058472 4K7 .25W RESISTOR 1% M/F

058474 470K .25W RESISTOR 1% M/F

059104 0.1UF 100V CAP

059108 1000UF 25V CAPACITOR

059220 22PF CERAMIC DISC 2.54MM PITCH

059221 220P CERAMIC CAPACITOR

059226 220UF,25V CAPACITOR

059473 .047 ISC 250VAC CAP

059475.1 4.7UF 35V MINIATURE CAP

059476 47UF 63V CAPACITOR

059476.3 47UF 25V RADIAL ELECTROLYTIC

059476.4 4700UF 35V ELECTROLYTIC 10MM

060002 OPTOCOUPLER

060003 LM393 DUAL COMPARATOR I.C

060008 BTA08-600 TRIAC

060010 LM7812CT  12V REGULATOR

060018 BC184L TRANSISTOR

060021 1N4148 DIODE

060022 12V ZENER DIODE 400MW

060024 1N 4007 DIODE

060027 400MW BYZ88 4.7V ZENER DIODES

060034 TLP627 4 PIN DARLINGTON OPTO-C

060042 BAT85 SCHOTTKY DIODE

060059 LD1086V5 VOLTAGE REGULATOR

060061 PUMP MOSFET 80NE06L

060112 OP177GP OP-AMP

060120 16 MHZ CRYSTAL

060121 3M/M LED

061018 M8 plain nut

061119 M6 X 12 PAN HEAD

061159 MVS TUBE CLAMP

061165 Taptite Screw

061166 M5 TAPERED BOLT

061167 M8 x 10m/m Hex Head

061219 M8 washer

061409 M8 CROSS KNOB

062007 I.E.C MAINS LEAD

070244 MVS MAIN PCB

070245 MVS CONTROL PCB

070246 MVS THERMOCOUPLE PCB

2388 MVS BOTTLE CARRIER

2402 MVS HEATER TERMINATION KIT

2876 MVS SPARE TUBE

2888 MVS CONTROL PANEL PROCESSOR

2889 MVS MASTER PROCESSOR


